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MCA : NIMCET 2008

95. The main disadvantage of cache organization is
that
ComPUter (a) It doesn’t allow simultaneous access to the
intended data and its tag
91. A CPU has an arithmetic unit that adds bytes and (b) It is more expensive than other type of
then sets its V, C and Z flag nits as follows : The organization
\égii ilss sseett iflfaazgr};r;ii: i:vgzgzxtggc;?:r‘n F{EE (¢) The cache hit ratio is degraded if two or more
) O TR . block frame in the cache
o deicne i dwing an opemin, The @ Thepumber o sk rquied o e
i : i linearly with the size of th i
values of the V,C and Z flag bits respectively after i;lgreliiss ey W ¢ size of the main
th -bit bytes 11 11 1 1111
adileil ,,1 ytes 00 00 and 1000 are 96. Let A [1...10] béYanyarray, Let A[i] = 2i for
@ 0 O 0 B 110 1<i <10. Aftex the” assignment j=A[A[5]] is
(a) 1’ 1’ 1 @ 0’ 1’ 0 executedgthe\value of A[j] is equal to
c .
> > a) Undefined b) 1
92. Which one of the following statements is always EC)) c E d; 10
t ?
(n;e A compiled program more mem than 97. “The.first instruction of bootstrap loader program
a anc;teljrpieté)d(i)gr Oagra;lnses ore memoty tha of an opérating system is stored in
(b) A compiler converts a program to a \lower (a) BYY . (b) BIOS
level language for execution (e)Hard disk (d) None of these
(©) A compiler for a high level language “takes 98- vThe  function — ABC+A'BC+A'BC +AB'C’
less memory than its interpreter is equivalent to
(d) Compiled programs take, moré time . to (a) AC'+AB+A'C (b)AB' + AC' +' AC
execute than interpreted programs. (c) AB+ AC' + AB’ (d) AB+ AC + AB’
93. Floating point number i “a computer are 99  The addition of 4 bit, 2' s compliment binary
represented using a 10-bit mantissa ‘(including a number 1101 and 0100 results in
sing bit)and a 7-bit eXponent-{including a sing (a) 0001 and an overflow
bit). What is the approximate value of the (b) 1001 and no overflow
maximum number, which can be represented ? (¢) 0001 and no overflow
Assume that the mantissa is stored in the (d) 1001 and an overflow
normalised form, that is, without leading zeroes. ) o
(@) 2% (b) 21 100. Given 4/(224), =(13), the value of radix r is
(c) 2% (b) 2 (a) 10 (b)8 (c) 6 @5
94. The capacity of a memory unit is defined by the 101- L’et A=11111010 and B=00001010 be two 8 b}t
number of words multiplied by the number of bits 2’s complemgnt number. There product in 2’s
per word. How many separate address and data complement is
line are needed for a memory of 4K x 16 ? (a)11000100 (b) 10011100
(a) 10 address lines and 16 data lines (c) 10100101 (c) 11010101
(b) 12 address lines and 12 data lines
(¢) 12 address lines and 16 data lines
(d) 12 address lines and 8 data lines
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102.

103.

91.

92.
93.

94.

95.
96.

97.
98.

L >

Identify the logic function performed by the circuit.

T
j} j>_f(x,y>

(a) Exclusive Or (b) Exclusive NOR

() NAND (d) NOR

Which of the following is (are) true about virtual
memory systems that uses pages ?

104.

105.

(i) Programs must be resident in main memory
throughout their execution

(iii) Pages correspond to semantic characteristics
of the programs

(@ ionly (b)iionly (c)iandii (d)iand iii

The minimum number of gates needed to implement

the Boolean function.

fOoy,2)=2(x+y)+E+x+y)(x+¥)

(a) 2 (b) 3 (c) 4 (d5

How many bits are required to store an ASCII

character ?

(@) 7

(© 8

(b) 6
(d) None of these

Explanations

(i) The virtual address space can be larger than
the amount of physical memory
(b) 11001100
+10001111
101011011
V =1, as there is an overflow
C =1, as carry out/is, generated by, most
significant bits.
Z =0, as the result is;not zero
So, 1, 1, 0 is the 'bits obtained:
(b) it is always true.
(d
|Signbit | Signbit
IIIIIIIIIIIIIIIIIIIII
Mantissa I ExponentI
Maximum number =111111111 x2D: = 2%
(0) 4K x16 = 2 x16
= We should have 12 address lines and 16 data
lines.
(d
(a) As Ali] = 2i, so j=A[A[5]]
= j=A[0] = 20; but A[ j] = A[20]
is not defined, As, A takes values from 1 to 10.
(©)] BIOS = Basic Input Output System.
()] It will be simplified by Karnaugh map as follows.
B'C' BC BC BC'
Al [ -
A o [ ] o

99.

100.

101.

= Function is AC'+ B'C + A'C
BC' BC BC BC'
or A |[ETT = A'C + AB'+ AC'
i uil Nl B s
(c) 2’s complement of 1101 is 0011
2’s complement of 0100 is 1100
0011
+1100
1111
It’'s 2’s complement is 0001. Also, there is no
overflow.
(d J24) =(13), = VJ2r*+2r+4=r+3
= 27+ 2r+4—(r+3Y =r*+6r+9
= P-4r-5=0 = (r-5 (+1)=0
= r=-1,5
As a cannot be — 1, so r = 5.
(e) 2’s complement of A =00000110

2’s complement of B=11110110
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11110110
x 00000110
00000000O0
11110110
11110110

10111000100

=Xy +Yz+2X+2XY
K-MAP solution is

Yz Yz Yz )z

= flx, y, 2)=2+xy
8, bit representationof 10111000100is X
11000100
102. (b) The given figure represent Y— f
Oy +xy) =2y +xy’ z
which is exclusive NOR.
103. (o) It requires two gates.
104. (a) 2(x+Y)+G+x+y)x+y) 105. (a) 106. (b) 107. (o)
=z(x+y)+ @@ y)+(xy)
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